Brereton CE Primary School

Maths in Year 4



Maths at Brereton

How do we teach Maths at Brereton?

At Brereton, we use Power Maths as a basis of our maths lesson. This is an exciting class
mastery approach, which has been recommended by the DfE, that works for every child. Itis

based upon the concrete, pictorial and abstract approach.

Every lesson is divided into sections that involve plenty of discovery, sharing, collaboration,
practice and reflection. Children are encouraged to solve problems each day through the use of

concrete resources, pictorial representations and abstract thinking.

At the heart of this programme is the idea that all children can achieve and be successful

mathematicians with the right growth mindset.

What does a Power Maths

A power up Power Up: Each lesson begins with a Power Up task. This is often
o something the children have been previously taught and
S B encourages group or partner work. This involves lots of discussion PRI
to get children thinking mathematically. &)

Discover: This part of the lesson introduces the learning objective
to the class. The children are presented with a problem they must
try to solve using problem solving and reasoning.
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@) This addition has more than one exchange.
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Share: This is an opportunity to look at how the class have decided
to tackle the Discover problem. As a class, we will look at different
methods that have been used before looking at the most efficient
method. At this point, it is encouraged to have learning aids out.
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s This might include place value counters or Base 10. This is so that
an children can understand the concept behind the teaching.
..T.h. 1..:.. o How much do the van and the vintage car cost in total?
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. Think together: This part of the lesson allows children to practice 9990 — ’
The total value of the sports car and the motorbike is £5.89 . 00 S|
: the methods they have been shown during the Share part of the ‘q°5‘[Lj’D -
it I need to think carefull sy
lesson. It follows a structure of | do, We do, You do. The teacher *Eéq boutrow's wie the w
models the method before the children try the method with a @ o s s i v v ko
motorbike. How much does the caravan cost? ~ ~
Adding two 4-digit numbers € partner and on their own. The coravon costs £ () 1775
) complete these additions. 102
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e o 5 Independent work: The main part of the lesson consists of
_ @‘/H O‘/v _ i independent practice. The questions in the Power Maths workbook
.o 2oeek e allow children the opportunity to work through problems related
- ettt SR e to the learning objective that become progressively harder.
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3405 1726 Thi V.0 hHTO When I add 4-digit numbers, I need to remember to:
e ——  —— Reflect: Each lesson ends with a reflection. This is an op- :
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the lesson.



Addition

Understanding | Use place value equipment to undersiand Represent numbers using place value Understand pariitioning of 4-digit numbers,
numbers to the place value of 4-digit numbers. counters once children understand the including numbers with digits of 0.
10,000 relationship between 1,000s and 100s.
2,000 + 500 + 40 + 2 = 2,542 @@o
P 4000 5.000 + 60 + &= 5.068
thoutsands equal 4,000.
. Understand and read 4-digit numbers on a
1 thousand /s 10 lundreds number line.
1= y 020
Choosing Use unitising and known facts to support Use unitising and known facts to support Use unitising and known facts to support
mental mental calculations. mental calculations. mental calculations.
methods
where Make 1,403 from place value equipment. Th H T 5] 4 256 +300=2
appropriate asee 00 LDE00/00000
Add 2 000 | 2+3=3 200 + 300 = 500
99
Now add the 1,000s. 4,256 + 300 = 4,556
1 thousand + 2 thousands = 3 thousands
I can add the 100s mentally.
1,405 + 2,000 = 3,405
200 + 300 = 300
So, 4.256 + 300 = 4,556
Column Use place value equipment on a place Use place value equipment to model Use a column method to add, including
addition with value grid to organise thinking. required exchanges. exchanges.
exchange
Ensure that children understand how the Th W T [ o ] T™h H T(O)
columns relate to place value and what to & 00000 -0 0000 ) T 5 5%
do if the numbers are not all 4-digit *
numbers. CEEES |u o0  |egel +4 2 3|7
o |
Use equipment.fo show 1,905 + 775 @ 1
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Why have only three columns been used for | (@ [TTT elobom] \_J
the second row? Why is the Thousands box
empty? aeas I.. oG ® HIMT &
Whiich columns will total 10 or more? 1515 4
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Include examples that exchange in more s s 4
than one column. #Hal2 3 7
5)7 9 |
—
Include examples that exchange in more
than one column.
Representing Bar models may be used to represent Use rounding and estimating on a number
additions and additions in problem contexis, and to justify | line to check the reasonableness of an
checking mental methods where appropriate. addition.
strategies
ThH T O o LO0O 2000 3,000 4,000 5000 6,000 7.000 &.000 S.000 W.000
1.373 7919
799 574 : ; : : : G12 + 6,149 =7
o I used rounding to work out that the
answer should be approximately
I chose to work out 574 + 600, 1,000 + 6,000 = 7,000.
then subtract 1.
6.000
| L
[ 28 3,001
This is equivaient to 3,000 + 3 000




Subtraction

Choosing Use place value equipment to justify mental | Use place value grids to support mental U=se knowledge of place value and unitising
mental methods. methods where appropriate. to subtract mentally where appropriate.
methods
where [T H T Q | | 3501 -2000
appropriate HE :“ﬂ. [ L2 1 1 JINcuoh] :""|
R R L L 3 thousands - 2 thousands = 1 thousand
FIE 7,646 - 40 = 7,606 - =
i o it ;E;EEE 3,501 - 2,000 = 1,501
What number will be leff if we fake away
3007
Column Understand why exchange of a 1,000 for Represent place value equipment on a Usze column subfraction, with understanding
subtraction 100s, a 100 for 108, or a 10 for 15 may be place value grid to subtract, including of the place value of any exchange
with exchange | necessary. exchanges where neaded. required.
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Column Understand why two exchanges may be Make exchanges across more than one Make exchanges across moare than one
subtraction necessary. column where there is a zero as a place column where there is a zero as a place
with exchange holder. holder.
across more 2902 -243=7
than one 2302 -243=72
column
: Th [ H T a
: CE) THESEEE 1]
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] sy o Th H
| need to exchange a 10 for some 1s, but | |#® @868 ™)
there are not any 10s here. i) z PPz
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- 2 & 3
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Representing Use bar models to represent subtractions Use inverse operations to check
subtractions where a part needs to be calculated. subtractions.
and checking
strategies Total I calcuwlated 1,225 — 799 = 574,

5762
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! can work out the total number of Yes votes

voles

using 5,762 — 2,899

Bar models can also represent ‘find the
difference’ as a subtraction problem.
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I'will check by adding the parts.
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The parts do not add to make 1,223,
I must have made a mistake.




’ Oh, I'm rubbish &t maths [ insted tatschoal | Attitudes to Maths
A V4

Let’s face it we’ve all got different memories of maths at school. It’s easy to
let your perceptions of maths affect your child — and this can set them off to
a bad start.

Many parents find the prospect of helping their children with maths quite

Aryway, it hasn't s ok to ba rubbigh at 1 i i i ‘
, W daunting—even if they are pretty good at maths. With a little confidence

é \ i\“" and some “have-a-go attitude” parents can make a big difference.

Helping at Ages 7 & 8 |

Ages 7 & 8 see the introduction of multiplication which |
leads on to division. Arrays are an important visual way to
understand multiplication - here are two arrays illustrating
that 4 x 3 and 3 x 4 are equivalent.

000 0000
4x3=12 999 @000 3x4=-12
000
00 e 000
- Extra practice at times tables - it's important your child
knows these fluently by 9

» Dice bingo - roll two dice and multiply the answer

» Scrabble — great for both English and Maths because of
the scoring

» Chess is a great way for children to learn to strategise -
which is a high level maths skill

» Learning a musical instrument can also help with maths.
Some research papers suggest that learning music
develops the same cognitive spatial-temporal part of the
brain as mathematics

Tips for helping

at home

* Find time to show an interest in what your child is
learning at school

* Encourage your child to work hard and praise when
they’'ve made an effort

* Encourage reading for pleasure by reading to your
children at night. This will help with all subjects
including maths.

* Create a time for learning at home that fits into the
daily routine.

* Find a place for your children to learn where there are
no distractions.



Multiplication

multiplication

4= 12=40+8

00000000 00000000

00000000 00000000
00000000 00000000
LOOC!:DOOOO] lCi'C#C#'ZJOO‘::J'C)J
4.3I=|z -5-5I=2IJ 4-3‘:32
4x3=12

4= 3=20

12+20=32

4= §=32

Multiplying by | Use unitising and place value equipment to | Use unitising and place value equipment to | Use known facis and understanding of
multiples of 10 | understand how to multiply by multiples of understand how to multiply by multiples of place value and commutativity to multiply
and 100 1, 10 and 100. 1, 10 and 100. mentally.
= | 4n7=28
i
HEEE 4x70= 280
EEEE | - = e
3 groups of 4 ones is 12 ones. Ixd=12 4 = 700 = 2,800
3 groups of 4 tens is 12 tens. 3xd40=120 400 =7 =2 800
3 groups of 4 hundreds is 12 hundreds. 3= 400=1,200
Understanding | Understand the special cases of multiplying | Represent the relationship between the =8 | Understand how times-tables relaie to
times-tables by 1and 0. table and the =10 table. counting patterns.
up to 12 = 12
@ @ @ @ Understand links between the
=] table, =& table and =9 table
Q @ 5= §isdouble 5= 3
Represent the =11 table and =12 tables in *3 table and X6 lable
- - | know that 7= 5=35
Ix1=3 5=0=0 relation to the =10 table. solknowthal T=6=35+7
) —
o BN B | teve and <7tabke
In7=3=x5+3=x2
2= 11=20+2 —_ 7
3=11=30+3
gn 112409 $3883cC
:
—— =0 table and =10 table
i 6= 10 =860
4x12=40+8 6%0 =60-6
Understanding | Make multiplications by partitioning. Understand how multiplication and Use partitioning to multiply 2-digit numbers
and using partitioning are related through addition. by a single digit.
partitioning in | 4 = 12 is 4 groups of 10 and 4 groups of 2.

18=6=2

BrbuMubs8ub
ekt
=60 + 48
= 108

18r6=10%6+8%6
60 = 48
108

Column
multiplication
for 2-and
3-digit
numbers
multiplied by a
single digit

Use place value equipment to make
multiplications.

Make 4 = 136 using equipment.

I can work out how many 1s, 105 and 100s.
There are 4 = §ones. 24 anes
There are 4 = 3 tens _.. 12 tens
There are 4 = 1 hundreds ... 4 hundreds

24+ 120 + 400 = 544

Use place value equipment alongside a
column method for multiplication of up to
3-digit numbers by a single digit.

900000
000000
0900000

312
3
9 3 6

*

Use the formal column method for up to
3-digit numbers multiplied by a single digit.

Understand how the expanded column
method is related to the formal column
method and understand how any
exchanges are related to place value at
each stage of the calculation.

Multiplying
more than two
numbers

Represent situations by muliiplying three
numbers together.

GOD000

SoDo00

]
L] &8 000000

2xGx10=120
12 = 10=120

Each sheet has 2 = 3 stickers.
There are 3 sheefs.

There are 3 = 2 = 3 stickers in total.

5x2x3=30

10 x3=30

10=6x2=120
60 = 2=120

Understand that commutativity can be used
to multiply in different orders.

0 00000

multiplications.

OoOLO0D 00DO0O0
o 000000

Q000000 000000

OBOnOs
oooooo

Qoo000

00O00C 000000 OCODO0 Rzx2x5=
12=10 =120
50,24 =x5=120

Use knowledge of factors to simplify some

24=3=12%2x3




Division

Understanding | Use objects to explore families of Represent divisions using an array. Understand families of related multiplication
the multiplication and division facts. and division facts.
relationship
between Qoo | know that 5= 7 = 35
multiplication :: :
and division, a0 | know all these facts:
including 000000
imes es vy ?:5=35
24 is 4 groups of 6. 35=7x5
= 35+5=7
24 divided by 6 75 4. et 3725
24 divided by 4 is 6. 7-35+5
5=35+7
Dividing Use place value equipment to understand Represent divisions using place value Use known facts to divide 10s and 100s by
multiples of 10 | how to use unitising to divide. equipmeant. a single digit.
and 100 by a
single digit BD a.3.] 15+3=5
0090000000 150+ 3=50
(w]w] i~
. 1500 = 3 = 500

9

& ones divided info 2 equal groups
4 ones in each group

& tens divided into 2 equal groups
4 tens in each group

§ hundreds divided info 2 equal groups
4 hundreds in each group

aira[ ]

9+3=3

O®EIE!

2000086 ®

9§ tens divided by 3 is 3 tens.
9 hundreds divided by 3 is 3 hundreds.

Dividing 2-digit
and 3-digit
numbers by a
single digit by
partitioning
into 100s, 105
and 1s

Partition into 105 and 1s to divide where
appropriate.

39+3="2

Ixi0=30 Ix3imd

39=30+9
30+3

8=3
39+3

10
3
13

Fartition into 100s, 10s and 15 using Base
10 equipment to divide where appropriate.

J9=3==

I

3 groups of | ten

|28 o)

3 groups of 3 onet
39=30+9
30=3=10

9=3=3
39=3=13

Fartition into 100s, 10s and 15 using a par-
whole model to divide where appropriate.

142+2=22

wisda[ ] s2e[] 642.]

100+ 2=230

40+2=20
G+2=3

J0+20+3=73
142+2=73

Dividing 2-digit

Use place value equipment to explore why

Represent how to partiion flexibly where

Make decisions about appropriate

and 3-digit different partitions are needed. needed. partitioning based on the division required.
numbers by a
single digit, 42=3=7 G4=7=2 @ @ @ Q
using flexible
partitioning I will Spiit it into 30 and 12, 50 that ! can I will partition info 70 and 14 because lam | (&) (2) () (2) (o) (32) (&) (1)
aivide by 3 more easily. dividing by 7. T1+2=3 T133=24 Tipd=l TBrEed
(3) = :: Understand that different partitions can be
e e used to complete the same division.
2L HRE T
oo MeTull BiTul o0 o0
000000000 o0
BieTall
Understanding | Use place value equipment to find Represent the remainder as the part that Understand how partitioning can reveal

remainders

remainders.
83 shared into 4 equal groups

There are 24, and 1 that cannot be shared.

@@,
LS

remainders of divisions.

(=)
®®

80+4=20
12=4=3

cannot be shared equally.

72 =5 =14 remainder 2

95 = 4 = 23 remainder 3




Year 4 Expectations:

Count backwards through zero to include negative numbers.

Compare and order numbers beyond 1,000.

Compare and order numbers with up to 2 decimal places.

Read Roman numerals to 100.

Find 1,000 more/less than a given number.

Count in multiples of 6, 7, 9, 25 and 1000.

Recall and use multiplication and division facts all tables to 12x12.

Recognise place value of any 4-digit number.

Round any number to the nearest 10, 100 or 1,000.

Round decimals with 1dp to nearest whole number.

Add and subtract numbers with up to 4-digits using written columnar method.
Multiply 2-digit by 1-digit and 3-digit by 1-digit

Count up/down in hundredths.

Recognise and write equivalent fractions

Add and subtract fractions with same denominator

Read, write and convert time between analogue and digital 12 and 24 hour clocks.

D

Maths is a passport to a world of career opportunities and primary maths is the foundation for this. The goal is developing
“Number Sense” - a kind of “maths fluency” which involves applying mental arithmetic accurately and quickly - and

intuitively knowing if answers feel right or wrong.

Helping your child with maths at home can be daunting, but most parents are a lot better at maths than they think they
are. It’s worth putting on a “have a go” attitude because the extra practice and one-to-one attention can have a big
impact. Helping can be as easy as playing a board game or discussing maths with your child. Finally, and
most importantly, don’t forget to encourage your child. You don’t always need to understand what your child is learning
— showing an interest and encouraging always has a positive effect. Praise works best when it’s for effort and not
necessarily for being quick or getting top marks. Praising for effort encourages learners to try harder which promotes a

good attitude to learning.



